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GUESS PAPER - 2011
ACCOUNTANCY
CLASS - XII
Time allowed:  3 Hours



Maximum Marks : 80




General Instructions:-

1. This question paper contains three parts A, B and C.

2. Part A is compulsory for all candidates.

3. Candidates can attempt only one part of the remaining part B and C.

4. All parts of a question should be attempted at one place.
	
	PART A   :ACCOUNTS OF NPO, PARTNERSHIP AND COMPANY ACCOUNTS 
	

	Q.1
	What is ‘Bequest’? How is it treated in a Not for profit organisation?        
	(1)

	Q.2
	State where will the following appear in case of  Fixed Capital
(i) Drawings     (ii) Fresh capital introduced
	(1)

	Q.3
	What are the different methods of calculating profit at the time of death of a Partner? Give journal entry.
	(1)

	Q.4
	What do you mean by ‘Super Profit’?
	(1)

	Q.5
	What do you mean by debentures issued as Collateral security?
	(1)

	Q.6
	Prepare Subscription Account from the following for the year ending 31st December 2010.

Subscription in arrears on 31-12-2009 –Rs.4,200

Subscription received in advance on 31-12-2009 Rs.9,000

Total Subscription received during the year 2010 (Including Rs.3,400 for 2009 and Rs.9,800 for 2011 Rs.3,90,000

Subscription outstanding for 2010 Rs.7,700.

	(3)

	Q.7
	Negi Ltd has the following balances appearing in its Balance sheet.
Securities Premium                 Rs. 44,00,000

9% Debentures                         Rs. 2,40,00,000

Preliminary Expenses             Rs. 20,00,000

The company decided to redeem its 9% Debentures at a premium of 10%.You are required to suggest the ways in which the company can utilize the securities premium amount according to Section 78 of the Companies Act.
	(3)

	Q.8
	Monika  ltd issued 50,000, 7% Debentures of Rs.100 each at par and redeemable at par after seven years. Debentures are callable after 3 years at an exercise price of Rs.105. At the end of 4th year, the company invoked the call option and the holder of 10,000 debentures responded to the called option. Record necessary journal entries. 


	(3)

	Q.9
	X, Y and Z are partners in a firm sharing profits in the ratio of 5:3:2. They decide to share future profits and losses in the ratio of 2:3:5 with effect from 1st April, 2006. They also decide to record the effect of the following revaluations without affecting the book values of the assets and liabilities, by passing a single adjustment entry:

                                                                              Book Value                             Revalued Value 
                                                                                    Rs.                                              Rs.

 Land and Building                                                1,00,000                                      1,50,000

Plant and Machinery                                              1,50,000                                     1,40,000

Trade Creditors                                                          50,000                                        45,000

Outstanding Expenses                                               45,000                                      60,000

Pass the necessary single adjustment entry.    
	          

	Q.10
	(a) Calculate interest on drawings of Mr. X if he withdraws Rs.1,200 at the end of every month, assuming interest on drawings is calculated @ 10 % p.a.

(b) Ram and Mohan are partners in a firm sharing profits and losses in the ratio of 3:2. Their fixed capitals were Ram: Rs.1,20,000, Mohan : Rs.90,000. For the year 2006 interest on capital was credited to them 6% instead of 5%. Give necessary adjusting entry for the rectification of the error. Show working notes clearly.   
	(4)

	Q.11
	D Ltd acquired the running business of XLtd taking over the following assets and liabilities for a purchase consideration of Rs.21,00,000



Land and Building


Rs,14,00,000



Plant & Machinery


Rs.10,00,000



Current Assets


Rs.6,00,000



Current liabilities


Rs.7,00,000

The amount of purchase consideration was payable as to Rs.3.00,000 in bank draft  and the balance by issue of 12% debentures of Rs.100 each at a discount of 10%.

	(4)

	Q.12
	Pass Journal entries from the following:-

(a) Jaypaul Ltd purchased its 800, 12% Debentures @ Rs.1,000 each @ Rs.975 for immediate cancellation. Brokerage paid Rs.300.

(b) Siddharth Ltd converted its 500, 13% Debentures @ Rs.100 each redeemable at a premium of 10% in to Equity shares of Rs.10 each at a premium of 25%.

(c) Sandeep Ltd redeemed its outstanding 1,000, 11% Debentures @ Rs.500 each at a premium of 20% out of Profit. Debenture Redemption Reserve account shows a balance of Rs.2,00,000.
	(6)

	Q.13
	Following is the Receipts and Payments account of the Indian sports club for the year ended 31. 12. 2006:
	(6)

 

	
	Receipts and Payments account for the year ended 31. 12. 2006:

Receipts 

Amount (Rs.)

Payment 

Amount (Rs.)

Balance b/d

10,000

Salary 

15,000

Subscriptions 

52,000

Furniture 

20,000

Entrance fees

5,000

Office expenses 

11,000

Tournament fund

26,000

10% Tournament fund

 investment ( 1st July 2006)

26,000

Sale of old news paper

1,000

Sports equipment 

40,000

Legacy 

37,000

Balance c/d

19,000

1,31,000

1,31,000

Other Information’s:

On 31.12.2006 the outstanding subscriptions were Rs. 2,000 and on 31.12.2005 Rs. 1,000. The Salary outstanding at the end of the year was 1,500.

On 1.1.2006 the club has building Rs. 75,000, Furniture Rs.48, 000 and Sports equipment Rs. 30,000. Depreciation charged on these items including purchases was 10%.

Prepare Income and expenditure account for the year ending 31.12 .2006 and the Capital fund on 31.12.2005.
	

	Q.14
	Amit, Akhil and Nitin were sharing profits in the ratio of 2:1:1. Their balance sheet as on 31-12-2006 stood as follows:

                                                Balance Sheet as on 31 December, 2006

Liabilities

Amount

   (Rs)

Assets

Amount

    (Rs.)

Sundry Creditors

Bank Loan

Bills Payable

Profit and Losses A/c

Amit’s Capital

Akhil’s Capital

Nitin’s Capital

 24,400

 10,000

 18,000

  2,000

 50,000

 40,000 

 40,000
1,84,400

Cash 

Sundry Debtors    20,000

Less: Provision       1,600
 Stock

Land and Building

Investments

Goodwill

Advertisement  Suspense a/c
 40,000

 18,400

 20,000

 55,000

 24,000

 12,000

 15,000
1,84,400

Nitin died on 31st March, 2007. The following adjustments were made :

(a) Building be appreciated by Rs.2,000.

(b) Investments are valued at 10% less than the book value.

(c) All debtors (except 20% which are considered as doubtful) were good.

(d) Stock is increased by 10%.

(e) Goodwill is valued at two years purchase of average profits of the past Five years.

(f) Nitin’s share of profits to the date of death to be calculated on the basis of the profits of the preceding year. Profits for the years 2002, 2003, 2004, 2005 were Rs.26,000, Rs.22,000, Rs.20,000 and Rs.24,000 respectively. 

Prepare Revaluation Account,  Nitin’s capital account to be rendered to his executors and Executors account assuming that Rs.18,425 be paid immediately to his executor.
	(6)

	Q.15
	The following is the Balance Sheet of Heera and Panna, a partnership business, as on 31st December,2006: Ruby is admitted for 1/4th Share in the future profits.
Liabilities

Amount

   (Rs)

Assets

Amount

    (Rs.)

Sundry Creditors

Heera’s Capital

Panna’s Capital

 40,000

 48,000

 54,000

1,42,000

Bank

Sundry Debtors

Stock

Furniture

Machinery

12,000

30,000

40,000

10,000

50,000  
1,42,000

Partners decided to revalue the assets and liabilities as under :

Plant and Machinery                Rs.60,000

Debtors                                     Rs.27,000

Furniture                                   Rs. 9,500

Stock                                         Rs.36,000

An amount of Rs. 3,000 included in creditors was no longer a liability and hence, required to be properly adjusted. A contingent liability of Rs.500 not included in the above Balance Sheet had to be cleared. Goodwill of the firm is valued at Rs.20,000 and Ruby brings Rs.15,000 as his capital.

Pass necessary journal entries and Prepare the Balance Sheet of the new firm.
	(8)

	
	                                                          OR

Following was the Balance Sheet of D,G and T on  28.2.20X2:

Liabilities

Rs

Assets

Rs

Creditors

 50,000

Bank

 20,000

Bills Payable

 10,000

Debtors

 30,000

G’s Loan

   8,000

Stock

 20,000

R’s Loan 

12,000

Furniture

 15,000

General Reserve

 20,000

Land and Building

2,45,000

Capitals :

G’s Capital

   20,000

D                     1,00,000

T                     1,50,000

2,50,000

3,50,000

3,50,000


	

	
	The firm was dissolved on the above date on the following terms:

(i)
Debtors realized Rs 28,000 ; and creditors and bills payable were paid at a discount of 10%. 

(ii)
Stock was taken over by T for Rs 15,000 and furniture was sold to N for Rs 12,000.

(iii) Land and building was sold for Rs.2,80,000.
(iv) R’s loan was paid by cheque.
(v) The firm had a joint life policy of Rs.5,00,000 with a surrender value of Rs.1,00,000. The policy was surrendered at its surrender value.

Prepare necessary ledger account for closing the account.
	

	Q.16


	A company issued 1,20,000 shares of Rs.10 each at premium of 20% payable as follows:

On Application Rs.5 (including premium) ; on allotment Rs.3 and balance on first and final call.

The company received applications for 1,50,000 shares and allotment was made as follows 

Group A : Applicants for 80,000 shares were allotted in full .

Group B : Applicants for 50,000 shares were allotted 40,000 shares.

Group C : Applicants for 20,0000 shares were not allotted any shares.

A shareholder to whom 400 shares were allotted under Group A, paid full amount due on shares along with allotment money. Another shareholder holding 1,200 shares failed to pay the amount due on call. His shares were forfeited and 1,000 of these shares were subsequently issued as fully paid up @ Rs.11 per share.

Expenses of issue came to Rs.25,000 which were fully written off against securities premium a/c.

Pass necessary journal entries.

                                                     OR

A limited company offered for public subscription 50,000 shares of Rs.10 each issued at a discount of 10%, amount payable as follows:

On application and allotment                                Rs.3 per share

On First call                                                              Rs. 5 per share

On Second and final call                                           balance

Applications were received for 70,000 shares and pro-rata allotment was made to all the applicants. Excess application money was adjusted on the sums due on first call. When the first call was made, one shareholder who had applied for 350 shares did not pay the amount due on first call and his shares were forfeited. Second call was made thereafter. Forfeited shares were re-issued at Rs.7 per share as fully paid up.

Pass necessary journal entries.
	(8)

	
	                                                         PART- B
	

	Q.17
	If operating ratio of a company is 85%, what will be the operating profit ratio?
	(1)

	Q.18
	What does cash equivalent include?
	(1)

	Q.19
	Interest received by a finance company is classified under which kind of activity while preparing cash flow statement?
	(1)

	Q.20
	State where do we show the following items in the balance sheet as per ‘Schedule VI’ of Companies Act 1956:

 (a) Securities Premium     (b) Loose Tools    (c) Interest on secured loans   (d ) Bills Receivables (e) Goodwill                     (f)  Share Forfeited A/c 
	(3)

	Q.21
	Prepare a common size statement of X Ltd with the help of the following information:

Particulars

2005                                 2006

Gross Sales

Return Inwards

Cost of Goods Sold

Indirect Expenses

Rate of Income Tax

1,10,000                          4,20,000

  10,000                               20,000       

60% of sales                  70% of sales

10% of Gross Profit

50% of Net Profit before Tax


	(4)

	Q.22
	(a) Calculate Return on Investment from the following information:

Share capital:                                                                      .

Equity                      40,000         10% Debentures                  2,00,000                                                                                            

Preference                 50,000        Current Liabilities                 50,000

General Reserve      1,20,000      Discount on shares                  2,500

Net Profit (after debenture interest and income tax)               40,000

Rate of Tax                                                                                      50%
(b) Calculate Debt equity ratio from the following information:

Total Assets   4,05,000 ;  Total Debt     2,60,000 ; Current Liabilities     40,000

	(4)

	Q.23
	From the following information of a public company as on 31st  March, 2006 prepare a cash flow statement showing Net Cash from Operating Activities.
Liabilities

2006

2007
Assets

2006

2007
Capital:

Equity Capital

10% Preference shares

12% Debentures

Profit and Loss A/c

General Reserve

Current Liabilities 

4,00,000

2,00,000

1,00,000

2,00,000

1,50,000

   70,000

11,20,000

6,50,000

3,00,000

2,00,000

  ----

1,20,000

1,10,000

13,80,000

Fixed Assets

10% Investments

Current Assets

Profit and Loss A/c

Goodwill

Discount on Issue of Shares 

7,10,000

1,00,000

2,70,000

  ----

   10,000

    30,000

11,20,000

8,20,000

   80,000

3,40,000

1,00,000

   15,000

   25,000

13,80,000

(i) Depreciation provided during the year was Rs.1,35,000.
(ii) Tax made  during the year is Rs.20,000

(iii) Dividend paid during the year Rs.15,000
	(6)


Prepared by:

Name

AGV Muscat

Email

alexpalavila@hotmail.com

Phone No.
0096899700490

About Teacher:

It is a Model paper prepared for the benefit of Class XII CBSE Accountancy Students
AGV SERIES INDIAN SCHOOL MUSCAT
PAGE  
www.cbseguess.com
Other Educational Portals

www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com | www.niosguess.com | www.iitguess.com

[image: image1.png]